Muttipication Waord Problems One
Math Warksheet 1

There are 3 eggs in each box. How many
eggs arein T boxes?

Thera are & tickets in each box. How many
tickats are in 10 boxes?

Each banana cosls $5.00. How much do 10
bananas cost?

Each child has 8 erasers, I there are 2
children, how many erasers ane there in
total?

Janice has T boxes of oranges. Each box
holds 2 oranges. How many oranges does
Janice have?

A

3 eggs * 7 boxes = 21 eggs

A

6 tickets * 10 boxes = 60 tlickets

AL

AnEvwar

£5.00 * 10 bananas = $50.00

Anuwer:

8 erasers " 2 children = 16 erasers

Al war:

7 boves * 2 oranges = 14 oranges
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